53m35bs 1. 3023963900 (20 Jmemo)

X590
Jos

©d3oemgds | 1.1 | 1.2 | 1.3 114 |15|16

Jmws 512 |5 |4]2]2 20

303096()900 6030096935005, OHMIYOLsE FboL L3gdG®ol bowe bsfoerdo Lobsmerols
396B 9300 Gmsbmdds dgw9deos, ol godms bbgsalibgs 89539MH0mds 5J3L. b 89b9gdsdo
23930390900 3039963HJooL  MTgBHILMBS MO MORBMEo  FmegIMss.  obobo
2965300m0g0L  9(39656M99d0L,  43530¢gd0L,  (3bM3xWMOo  Jum30Wwgdol s bbgsms
99339600 Mdsb.

309396390l ImMob goblis3Mm®gdYEo HMEo 593l sMoMmMY6M 303d96(30L, OHMIwgdos
305mMYb BogMmms Bbzoslbgs 3esll 8093036905 s 299mygbgdoll oo obGHMGmOS
593L.

98303¢ 00 OHRO

339 923033700  smILiergMmgdols  dsbdow By  sHoMdmgdbgb 3030963L, OMBglsg
»933033M0 WMAX0“ 9im©IdMEs. 030 30039 LOBMYGHYG sHIMOYEM 3038963
90BbgMo. 0530030039ws@  dobo  [o®mBmgdol JoBsbl bobgzto dzoMmRsBO  J3oL -
WsBMOHoGOL 08035309008 99ddbs FomBmoygbs. 8my30569300 ga303GHIMO WGXO
5JHoOs  39dm0oygbgdms  LsdoMbgdol  ©Y3MEMSE0J00L,  3gEWdoL,  Jobs3gdgdL,

F9960F0b, 539%0L s Bbgsms dmbobs@ezsc.

90390905 0683MmMT5300 J3303GMM0 MK 0L 3905096 MdsTo sOLYdME JegdgbEoms
3¢™a9d0L dqLobyd:
e 993960 A dgmmbg 39M0m©Ls Fgmeg X a53do 8gdMGMOL;
e 9wgd96¢ B-b BoMIQMd000 5GHMINGO Tobios 64;
* 99396 C-b ogLOToIMHO F5¢gbEHMBsS IV, Jobo SEHMT0 BMTom 50gTo@JdS
BobBoMdol o BsMmMBYdS 2q6M3s6093l;
e 9wgd96¢0 D 0530Lvx85¢ 8amdsgmdsdo {omdmaagbl s0ML, HMIgwoE m®ms@mdosbo

9939000056 9003905 S Job I3l JMPOMEOL 5E™AOL GHmo ol 5J3U;
* 93303316 MOXT0 gergdgbBms 5EHMIJOOL MoMEYBMIM 030 MBIGIMMBS S1gm0.:



n(A):n(B):n(C):n(D)=1:1: 4: 10

1.1 ©s50b9m 303396¢)0L dmerg3wEwHo MM

A—Ca; B—Cu;, C-Si; D-0

CaCuSi 04

Dma0gH»0 603m0gMgdoL BMOIMWs G9830d¢0s B3H9MOM MmJLoEadol Lsboom.

95Q5CP0MS:
CaCO3 = Ca0-CO, Aly(S0,); = Al,05-350;

1.2 92303300 @x ol GnmImws FoImoyobgom 3 mglool gm®dmwol bsboom

Ca0 - CuO - 4Si0,

5MJgmemaqdols s bsdgboghm §Mggdol ymsmqds doodzos 39mMmEgdds, MMIWIOOMSE3
d39wds  92303GJgdds  9gdengl  bgdmbligbgdmewo  30d9b@Hol  Lobmgbo. Jodozmligdds
BooGotal ®589bodg 9du3gM0dgb@o, MHMIgWmssbsg 9Hm-9hHmo Y39wsbg Mm3EH0doeremo
359Mmd MMM LOBsMEGH030L, 515939 M95396GJOOL MYLELOL BBMOZ. 53 9dl3gMm0Tg6EHT0 dscn
96035690l IgmE0gl 06593030 bsgMmgd0: Jogrsdo@o (0g039 B30wgbdol 3wmdg 39MdMbsE)0),
930305 @ 306935. gl Bog30 bobyMdwogzs oobgergl. 50IMBbs, MM Mgsd300L 8990
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5GH™39d0L MH5MmEYbMds MY IO 509T53)Jds 355360 65Ol MoMEYbMISL;

* 43005 bLoEoomd(IV)-ob mduol Fomdmoygbl;

* 300935 3530930 35MBMBsG) 0.

Cu,(0OH),CO5 + 8Si0, + 2CaC0; — 2CaCuSi, 01 + H,0 + 3C0,

36HM300000

36OM3MOMO 430,90 BgOHoL 308395305, HMIY0E MIFEY 5JBHOMSE oTM0Ygbhgds
L53gIO M 3OHME3gLYdT0: 53EBMdMLYdOL, FBJdOL, MZ0MIRMOH53900L s BbZsms FJBoLYdSC.
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1.4 5500690 3O™30mM0L B39O0 FMMIMs

Pb,Cr,,0,

6409 16.1 19.81 031:031:124=1:1:4
x.y.z—207.52. g ~031:031:124=1:1:

PbCrO,

1.5 §5630006900 M0 mglbool gm®mdmwol bsboom

PbO - CrO;

390339990 MHMOoL d999y 3OMIMOM0m 909000 39dbogzs BgOL 35636, bbgds s
dmaf396m F9x39MH0mdL 0©gdl. sdol dobgbo dolo MgHIMwo Esdwss. IHBIHBY o bsbL
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SAMEsbs 2. 3godm3nsbmo bn3zongmMadgon (20 Jymo)

xo0nMa
o30mgde | 2.1 | 2.2 | 23 | 24
©o35MY s
Jamo 4 8 7 1 20

dmEy8mos Jodoymao gomagdbgodo:
1. A+B+C-D
D+X->B+C+E
A+X->B+C+E
A->B+F
F+C-aG
G+Y->C+H
. H>E+Z
3bmdoos, HMI:

N U e W N

Y 3563030 603000969055 05 oMo gbl 506, HmIol bod3z3¢039s 3.17 g/ (6. 3.-80).

X 6030096905 d0bsOo BogOmos, MmIgaroi 990dwgds ¥ 60300096900sb dogowmm s
dobo §goeblbs®o d5535L Ho®Imoqbl;

Z 050&030 b03m0gcqdss, MMIgros ©gedofa®g Y4zgws®g 99@O©  393M(39wgdIo
9w9996@0Lsb sGoL Foedmgdboro.

2.1 55030690 Y, X ©5 Z 60300096905000 Gm®Iengdo

M(Y) = 3.14-22.4 = 71 g/ deagro = Y 5ol Cl,
X 046985 HCl
Z 0796935 0,

2.2 5530690 A-H 50006960 sbmgdom s0bodbmen 603009090, m@mdwgdo

A B C D E F G H

CaCos co, H,0 | Ca(HCOs),| CacCl, Ca0 | Ca(OH), | CaOCl,




2.3 9900020690 9gLds30L B:Jogd30s0s GHMEIMBJOO

CaCO03 + CO, + H,0 - Ca(HCO3),
Ca(HCO3), + 2HCl - CO, + H,0 + CaCl,
CaC0O3 + 2HCl - CO, + H,0 + CaCl,
CaC0O3 — CO, + Ca0O

Ca0O + H,0 - Ca(OH),

Ca(OH), + Cl, - H,0 + Ca0Cl,

2Ca0Cl, - 2CaCl, + 0,

N o ke W

24 990000690 H 60300096900 b®dGHeoeo gm@dames

Oo—cCl
Ca

/\

Cl
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3.1 995090690 59 BogMHOl FMe939WMHO S LEHMVIGHWIOWO BMOIMWGdO.
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31939 58096039 bsgMmo Foedmoddbgds M3060Ls s Hobadool dogk. mdlodo ©30bs
9900¢905 04mb Mm635¢96@0560 96 Lsd35¢g6E0560. sOLGdMIL M3060L olgmo mdlowog,
6HIgoE 9OHPNOOMNMSE MM35¢g6E06 s B335 g6E06 M3060L 5EMIgdL go3ogL. 3
mgbol ®30b6s(11, IIT)-0b mdlol, 5649 G 3060l bgbxl »fmwgdgb.

3.2 550690 3060l bgbxol dmerg3mEEOo GMEOIMWS, 1) 36MdOE0s dobo
360 396G 0 8939060 Mds (0b. 0saE53s).

dsbrgo Hoengdo, %

72.4

27.6

Fe, % 0, %

Fe,0,

724 276 1.29:1.725~1:1337~ 3: 4 Fe;0
N == . H . =~ H . I~ H —1
XY =56 16 €3%4




3.3 995090690 63060l bgbxol LEGHOWIEHMOMEO (FMIB0IIC0)BMOTMES.
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3.4 3060l bgbxo 55620500 sMgdo MH3060L 30l dgwgas© Hocdmoddbgds. dgsyobgom a0l
69593000 GHMEMds.

3Fe + 20, — Fe30,

3.5 3060l obmegool {3oLsl Joowgds 2 mJloo. 3060l mdlowdo dg@swo
15335¢9b 305605, begrm gma0MHEOL MJLOEOL BIMOMBIOMO JMEng32IMO obs 2-X 96
509953905 3myoMEOL 5GMINE Tobsl. Fgo0bgom 58 bsgMmOL 3oL 95300l GHMEWMdS.

Fe,04
M(S0,)=2-4,(5)=2-32=64
M(S0,) =32+ 16x = 64 = x=2 = S0,

4FeS, + 110, - 2Fe, 04 + 8S0,




63060L5 s ®3060l ol xz0Ob 656930, HMmIgEwdos 3m33mbyb@gdo goM339wwo
565835MOMO0M 0Ym 50900, 5fmbals, Mol 9999yo3 bobaMdwmoga goobwegls
9620500 5M980 o 33053 HMbIL. 50MABES, BT Tobs 56 goEzoWs.

3.6 5bLYbom, MEMA 56 TgoEz5ws Bobs. 35U¥Ibo LMY FSFMNZGOOm.

dsbd 00 F9dnbz9g35d0 56 F90E3wYds, 1Y) 0G0 Y0 3OMPOIEJOoL Tobs Lafyobo
656930L dsliol BHmero 0dbgds.

3009350, Lfgol boegzdo ogm x Imero Fe o y dmero FeS,. 35306 Lofigolo batrgzol dsbss
09690mo

(56x + 120y) g.
3Fe + 20, — Fe;30,
4FeS, + 110, — 2Fe,05 + SO,
$30L 999099 66930056 sMPRYdM©s Fe30, s Fe,03.
n(Fe;0,) = n(Fe) : 3 =§
n(Fe,03) = n(FeS,) : 2 = 0.5y
om0 X530 Isbd 0dbgdmes (232x + 160y)
50000 Bsbsd 56 FgoEgows
56x + 120y = 232x + 160y
Lo0QbY3
x:y=1875:1

5960950, Fobs 56 9033090, 0349 Lafigol botgzdo ®3060L s 3060l olivyergoob
IGO0 MbsRIOOMdS 046905

n(Fe) : n(FeS,) = 1.875: 1

3.7 H®aMO ©s5dH9IOOM 190 M30L9d9d0L dJmbg botrg3zl?

3009350, 5300 1 dmeo H3060L obvmEgoo, 3580b dolo dsls 0gbgds
m(FeS,) =120 g
95906 39EoMo 6-3060L BoFoMm MoMm©Ibmds 046935
n(Fe) = 1.875 - n(FeS,) = 1.875 degro
MmIol sl 04690
m(Fe) = 1.875 -56 =105 g
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35969 0090006567 556930L 3O ME9L0 3603369 M350 BOLBL 5ygbgdls
99Gowgdl s o F96500b6MdYOL. 98 OH™ML Jodobstg 3HM3gLL
30OMBos (corodere - Wsm0bMHO LOGYZ9S O JoOMMENSE 53 FIdb
603653L) gfm©gds. 30OMDBoOL MZoLOBObM  Bogswwomos $8T-U |
Jowsd  bom-om®380  8gdscy  dMObXsMLORE  sdBsYdMEO

530L9REO0L  Jobo3zqds.  ¥MObxsmdo T9gdsgowo  L3owrgbdol  3sgeol 506360@0305
B5bHA0OME5696 s BHgbmab MHN0gHNJdggdol 9ggas© 33969 39gMo 593l Jowgdwyero.

50 995396MH0MdL 9653060MBGOL A J5MI00, H®MIOL JOGIS3 WOBMEMSEMOOIE 30MHMOYITO
d9Lodegdge0s B3owgbd(Il)-ol LexsGbg B ds®owol dmddggdom, Mmdgwogs ,,Loldgwo
bmob* Labgwomss 36mdogo.

4.1 5500690 A 3560¢00l I3 O0 GO Mes, HMmIGEoE Bw9dg JoGowl
0o6M8moy9bL, 09 dsldo gangdgb@gdol 3MmEg6EMEo 899339 mdss: Ldowgbdo -

57.65%, 556905000 - 36.03%, 656050 5.4%, Hgodowo - 0.9%.

Cu, 0, C,H,

57.65 3603 54 09 oo
XIYEZIPE T e 12 1 -

=1:25:05:1=2:5:1:2
Cu,05CH,
Jébgb().' Cuz (OH)Z 603

4.2 99500690 A 35600l LEGHMIGHOHMWO (JM9BOIME0) BMOTMWS.

i
H—O—Cu—0—C—0—Cu—O—H

43 9950306900 @sdMmMGMM0ME 300mdYd30 A F5M0E0l 30©gdol Mgog300l GHmEMds.

2CuS0, + 4NaHCO0; - Cu,(0H),C05 + 3C0, + 2Na,S0, + H,0




44 995030690 0670603 306)md9ddo A 35600l [odmgdbol Mgod3o0l GHmEMmds.

2Cu+ 0, + CO, + H,0 — Cuy(OH),C05

A 85600l 300gd0LsL 0.5 dmero/w 30mb396EHMo300L L3owgbd(IT)-ol bLyers@ol 200 dgn
BBl 55953 gb B 60300096M900L 500 ¢ 2.52%-0560 blbsto. dowgdremo bsbrgzo
29530 EML, Mo d909yo3 bubs®OL ImEremds 9953LgL 2000 de-dqy.

45 550030690 Fodmgdboero A ds6r0gols obss.

2CuS0, + 4NaHCO; - Cu,(OH),CO05 + 3C0, + 2Na,S0, + H,0
n(CuS0,) = 0.5-0.2 = 0.1 deagmo
m(NaHCO3) = 500-0.0252 =12.6
n(NaHCO3) = 12.6 : 84 = 0.15 deagmo
®959600b dobgoz00 n(CuS0,) : n(NaHCO3) = 1 : 2, 30680l dobywoz000
n(CuS0,) : n(NaHC03) =0.1:0.15=1:15
sdohd F56805 CuS0y. dgbsdsdobsco:
n(Cuy (0H),C03) = n(NaHCO03) : 4 = 0.15 : 4 = 0.0375 deagwo
m(Cuy (OH),C05) = 0.0375 - 222 = 8.325 5
dsbrypbo: 8.325 g

4.6 5500690 Jogde blbsHo bogzm0gMgdoms dmemMmo 3mbigb@®msogdo
(O0mo/).

2CuS04 + 4NaHCO3; - Cu,(OH),C03 + 3C0, + 2Na,S0, + H,0
9396000 Bobgoz00
N sbscpmeo(CUSO) = N(NaHCO3) : 2 = 0.15 : 2 = 0.075 deagro
N sBgb0ao(CUS04) = N(CUSO,) — N gspsmymeo(CUSOy) = 0.1 — 0.075 = 0.025 degro
n(Na,S0,) =n(NaHCO3) : 2 =0.15: 2 = 0.075 demero
C(CuS0,) = C(CuS0O,) : V =10.025: 2 = 0.0125 deagro/ ¢
C(Na,S0,) =n(Na,S0,) : 2 =0.075: 2 = 0.0375 demgro/ ¢»
Fsbegbo: C(CuS0,4) = 0.0125 dmemo/ e, C(Nay$0,4) = 0.0375 degmo/ em.




695d300L 9909390 300gdMYo A 85600 ©53Fs39L FoMBO F5MH0ET530m, MO G903
23990gMBOO 5060 FodESMGL BoBBMomdol Gm@ob 100 g 5%-056 blbs®do.

47 55306900 GMEGHOL bLbsMT0 25390900l 999y J0wgdeo bLbsGOL 3GMm(396Gwo
990960 mds.

Cu, (OH),CO05 + 4HCl - 2CuCl, + CO, + 3H,0
959600b dobgoz00
n(C0,) = n(Cuy (0H),C03) = 0.0375 deagwo
m(NaOH) = 100-0.05 =5 g
n(NaOH) = 5 : 40 = 0.125 deacmo
2NaOH + CO, - Na,CO5 + H,0
®959600b dobgozo0on(NaOH) : n(C0,) = 2 : 1, 3oG@8ob dobyoz00
n(NaOH) : n(C0O,) = 0.125: 0.0375 =~ 3.33 : 1.
sdohd 356805 NaOH. dgbsdsdobsco:
n(Na,C03) = n(C0,) = 0.0375 deagmo
m(Na,C03) = 0.0375-106 = 3.975 g
Nsbsdyemo(NAOH) = n(C0;) -2 = 0.0375- 2 = 0.075 derero
N wsagboeo(NAOH) = n(NaOH) — Ny ypsepmamo(NaOH) = 0.125 — 0.075 = 0.05 deagmo
m(NaOH) = 0.05-40 =2 4
Mpus = Mpps(NaOH) + m(CO,)
m(C0,) = n(CO,) - 44 = 0.0375 - 44 = 1.65 g
Myys = 100 + 1.65 = 101.65 g

w%(NaOH) = -100% =~ 1.97%

101.65

975
. 0 ~ 0
101.65 100% = 3.91%

3sbbo: w%(NaOH) = 1.97%; w%(Na,C03) = 3.91%.

(A)%(Na2603) =




SAmMEsbo 5. 353b01dnl 3oMmdnadn (20 Jymy)

xo0nMa
o30mmgds | 5.1 | 52 | 53 | 54 | 55| 5.6
©o35MY Jnams
Jamo 2 4 4 2 6 2 20

3bmdowos, MHMA 3536030 BobToMdsEMb [o®dmddbol ™G dobstre Bogholb A s B,
OHMIgILS3 39Md0IOL MHmgd9b.
A Boghmdo gagdgbGoms oMo mbogsdmdgdos m(Mg) : m(C) = 4: 1, bowe B
Boghndo —m(Mg) : m(C) = 1: 1.

5.1 5500069, A s B 659600900l 309360 3mem3mgdo.

A: Mg,C,

LI Mg.,C
: = ——= : —1
XY T o412 92
B: Mg,C,

t1_1., MgC
: = ——= : —1
AT YEED) gt

6039 3560300 {i4oemb MOHM0gMHNJdggdololl 0degds - 30EMHME0DBEIds. A JoGBOOL
300MOME0bB0om d00gds C 5060, Mmdwolb od33m039 5640500l 0o 0.5-0l GHmemos. B
390d0@OL 30OMEO0BOm J5dMogmxs D s06M0, Gmdgol bod3zzmogzgs b. 3.-do 1.16 /-0l
GHMEoo.

5.2 5500690 C s D bsg®m9gdol Img3memo gmedwmwgdo.

C: M(C) =D(0,)-M(0,) =05-32=16
sbgo 50605 CH,
D: M(D) = 22.4-1.16 = 26

sbgm0o 50605 C,H,

5.3 995090690 A ©s B 3660009008 3000OHME0DBol Mgod30sms GHMmEmdgdo.

Mg,C + 2H,0 — 2Mg(OH), + CH, 1
MgCZ + H20 - Mg(OH)Z + CZHZ T




5.4 9950090690 A @5 B 306000900l LGHOMJGHIOI0 (695303290) BMGIMIDO.

Mg—C=—Mg

A @5 B 3563000930b 65601930l §mbs30 59993539L F96000 figwom. gsdmymaowo C s D
506900 506m5 656930 0.5 533 {iBg35L5 s 273 °C 39d3gcmo@IMsbYg 035390L 3.584 e
I 37Mdsl; bonerm s0Mmms bsg30l Lodrserm dmerwmo dobss 18.5 ¢/dmero.

5.5 350090690 C @5 D 506900l bs6r1g3d0 300836963 gd0L dcewm0 056553560 MdS.

_—— et = p—1 = = U.
T T, T,P (273 +273) - 1 <
n(6sMm930) = 0.896 : 22.4 = 0.04 dmevo
30d35m, n(C,Hy) = x deagro, 35906 n(CH,) = (0.04 — x) deagro
_ n(C,H,) - M(C,H;) +n(CH,) - M(CH.
(o) — "CH) MCHD) +n(CHY MEH) oo

n(C,H,) + n(CH,)
26x +16(0.04 —x)
x+0.04 —x B

s060gs, n(CH,) = 0.01 deagro, n(CH,) = 0.04 — 0.01 = 0.03 demero

185 = x =0.01

n(C,H,) : n(CH,) =0.01:0.03=1:3

5.6 550690 A ©s B 396000900 botrgzol 30m396¢ o dgmyqbowmds.

n(Mg,C) =n(CH,) = 0.03 dmann
n(Mg,C) - M(Mg,C)
n(Mg,C) -M(Mg,C) +n(MgC;) - M(MgC,)

- 0.03-60 100% = —2 - 1009% ~ 78.9%
T 0.03-60 + 0.01-48 °~ 228 0= AT

w%(MgC,) = 100 — 78.9 = 21.1%
3sbpbo: w%(Mg,C) = 78.9%; w%(MgC,) =21.1%

w%(Mg,C) = -100% =




